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Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each
10 x 2 =20

question carries 2 marks :
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F. of 135 and 225 with the help of Euclid's Division

Find the H.C.F.
Algorithm.
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e factors.

Express 7429 as a product of its prim
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Express 7429 as a product of its prime factors.
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d HCF of two numbers are 26 and 91 respectively. If one of

The LCM an
e numbers is 182 then find the other number.
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By what number should 1365 be divided so that quotient to be ob

is 31 and 32 as the remainder ?
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Question Nos. 21

to 28 are Long Answer Type. Answer any 4 quest

Express each of the trigonometrical ratios .1 the form of cos 9.
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